

Block Of Apartments in Floriana



Floriana, Central



€1,750,000

Reference No: 240221028-1557

 Total Rooms: **26**

 Floor Area (m²) : **272**

 Bathrooms: **7**

 Bedrooms: **17**

- ✓ Double Bedroom : 4.5 x 3 m (13.5 m²)
- ✓ Double Bedroom : 4.5 x 3 m (13.5 m²)
- ✓ Double Bedroom : 4.5 x 3 m (13.5 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Bathroom Ensuite : 2.55 x 2.9 m (7.39 m²)
- ✓ Double Bedroom : 2.55 x 2.9 m (7.39 m²)
- ✓ Double Bedroom : 2.55 x 2.9 m (7.39 m²)
- ✓ Double Bedroom : 2.55 x 2.9 m (7.39 m²)
- ✓ Double Bedroom : 2.55 x 2.9 m (7.39 m²)

Gallery





Manuel Borg

RE/MAX Excellence - Piazzetta

M: 79494425

E: manuel@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta

114B, Tower Road, Sliema, Malta